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WES ¢ (D)ol szraen [@ratue® fnod, OMR amren HEsns® BOLBH ruiiden ee(KST SEHod.

SECTION - A : MATHEMATICS (¢3¢ %"’392&1))

1 The sum of first ‘»’ natural numbers is
2w ‘n’ (\)B’J"& ;ooa;ge)’?méén‘

(1) Z n(n l)

(3) z I’l(l n)

3 3 arAoSed Bokose dopgen A ?
(1) 30 - 2% 35

3 The slope of the line which makes 3—:—

(3) 40

(2) Zn= n(n2'+1)

: e
4) 2n=———n2 (n4+1)

2 How many two-digit numbers are divisible by 3 ?

X-ogo& STE 8 BIST %Tn 800 Dot B e dod ?

(1y =1 | ) 0

3 1

4) 2

(4) 45

angle with the positive direction of x-axis is
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POLYCET-2022—C ] ' 1

[PTO.



4  The pair of equations x=0 and x=5 has

(1) Unique solution : (2) Infinitely many solutions
(3) Two solutions : (4) No solution '
x=0 0o Xx=5 o &S 28 $OA 0B Jeden

(1) 9BE > 80A dotran (2) osos® Fesden EOA dotron
(3) Botkh JesHD EOA doéran (4) Qw03 FesHen SO 0B

5  The sum of roots of a quadratic equation 3x> —7x+11=0 is

3x2 —T7x+11=0 26(05 D ESeas0 BwE) Drore B

) = @ -2 3) 3 4 -3

6  The roots of a quadratic equation x?>—3x-10=0 are

x2-3x-10=0 k) SR ESead0 By, dreren
(1) -5, 2 2y 5, 2 : {3) 4.0 4 2,5

- 7 The distance between the points (2, 3) and (4, 1) is

(2, 3) Do (4, 1) Dotk Desg Ersan Jos ?
(1) 2 2) -2 ) 3.2 4 242

8 In an A.P. if the first term is 4 and 9™ term is 20 then 15t term is

28 @oé@é &.wéa_ S HeSH0 4 B0 9 H HBSHL 20 @ond 15 S HSHw Jdods ?
(1) 16 ) 32 3) 18 4) 36

9  The degree of a quadratic equation ax® +bx+c=0, a#0 is

ax2+bx+c=0, a#0 O ESe0dn By, HOreat
(1) 1 (2) 2 )5 1) 4

SPACE FOR ROUGH WORK / & #J8 Séronosadd Hodn
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10 If o,B are the roots of a quadratic equation ax2+bx+c=0, a#0 then 2 +52 -

ax® +bx+c=0, a#0 35 gt D&y, Bareren o, few wond, o2 +p2 =

1 1
(1) b—z—(a2+2bc) (2) ;2—(a2—2bc)
1 1 (;2
(3) —2(b2+2ac) 4) —2-(b —2ac)
e e a
11 The sum of 10 terms of A.P. : 2, e A is
47,12, 0 ©o5[EES™ 10 dHore Tndin Jod ?
(1) 340 (2) 345 (3) 240 (4) 245

12 If a quadratic equation 2x2 4 kx+3=0 have two equal roots then £ =
22 +hor+3=0 5 S8t o8y dreren BErEEBS k = ,
(1) t62° 2) +248 3) +2v6 4 +342

13 If the H.C.F.vbf any two numbers is equal to ‘1’ then those numbers are called as
(D) Coprime numbers (2) Prime numbers
(3) Irrational numbers (4) Rational numbers

Boch K)omge} &ooézr s..er. 'l ®and, & Boh ‘(oomgexn ....... (ITolh 1ot
(1) 3878 e Sogen (2) s doggen
(3) 888 womgen (4) ogssdan somgen

14 The number '%' is a

(1) Natural number (2) Rational number
(3) Integer (4) Irrational number
'T'onde a8 00

(1) %res Somg | (2) os6dan song

(3) g tomg (4) 8:8a0 vowg

SPACE FOR ROUGH WORK / D HI8 BéronosdSd Hodn
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16

17

18

19

If A4={a,b,c,d} then number of subsets of 4 are

d=lash. e d} eans, 4% e s8&e Song
(1) 8 @) 12 3) 16 4) 20

The zero's of a quadratic polynomial 4 y2 +8y are
4y2 +8y B 2irodd By ArIgen
(1) 0,4 )0 2 3) 0,8 @4 0,2

The base of common logarithm is
SoBgarare (Rrreds wgrdo

(1) 2 ; {(2) 5 (3) 10 4 1
J; + Jz1_ is an irrational number, where p, g are

(1) Even numbers (2) Prime numbers

(3) Rational numbers (4) None

\/; 28 \/t; geSo Sopg @O, P, § &

(1) %0 Sowgen , (2) B Dopgen

(3) ossBan domgen ; (4) b=

The pair of equations Eai : y=7, 9x—10y =12, represents the following

2 3
(1) Parallel lines " (2) No solution
(3) Infinitely many solutions (4) One solution
-32-x +%y =7, 9x-10y =12 By HvESere 238, (800 T PRoHD.
(1) Bhross Baen (2) IS B
(3) eHosDD JHevotran (4) 938 >

SPACE FOR ROUGH WORK / 2& 38 Beranoswdd S
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- 20

21

22

23

24

25

The pair of equations 3x+4y =% and 9x+ 12y =6 has infinitely m%my solutions if =
3x+4y=k DO 9x+12y=6 ssare s, 0D Feden DA domd oS f -
(1) 3 @) 2 ' (3) 6 (4) 3

The value of log,501250 is

log;55,1250 B dend

(1) 0 @ 1 ) 2 4) 3

Which of the following is true ?
(808 &3S & g0 ?

(1) ¢=0 () n()=0 (3) ¢={0} (4) n(¢)=0

If the given lines 2x+ky=1 and 3x-5y=7 are parallel, then the value of £ is

2x+ky=1 28a% 3x-5y=7 e» Jhrods Bpew wand, k£ Jewd

10 10
Siaa (@ = 3 13 (4) —

If in the equation x+3 y=10, the value of y is ‘4’, then the value of x will be

X+3y=10 $b&wos® y Sy Jevd ‘4’wand, x dend
i -2 () 2 334 @ 5

If the equation ax?—8x+4=0 has equal roots then a=

ax® —8x+4=0 shssmo By, Hreren SRS 'q" dews
(D 2 @ 3 @) 4 4) 5

SPACE FOR ROUGH WORK / VD 8 Beronosds Mol
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27

28

29

30

a Lgh o
= , then the lines are

- 9 bz

(1) Unique solution ~ (2) Coincident
(3) Infinitely many solutions (4) No solutions
A bl ¢'c—1 ®and, & Bpen

a b o

(1) 988 >S5 $0A dotran (2) S&>on
(3) wHosRS Fder SR dotron (4) >33

If sum and product of zero's of a Quadratic polynomial are 1, 1 respectively, then its
corresponding quadratic polynomial is

28 58 D0 Gg) FrTrge B0 HOAK Erarge ©po HKHIT 1,1 eand, & 38 200 I8 ?

(1) x*-x+1 @) +x+l  (3) X +x-2 (4) x*-x+2
If sin(A—B)=% and cos(A+B)=% then £4, ZB="?

sin(A—B)=% PYeTeL ey cos(A+B)=-;- oond, LA, /B=?

(1) .45°, 15° @) 15° 45° (3) 45°, 30° (4) 30°, 15°

The length. of the shadow of a vertical pole is /3 times its original length. The angle
of elevation to the sun is '

o8 &5 DB Wb P&, & &I PEYH 3B wowd, 2rEIE © &35 Dok S min ?
(1) 30° (2) 45° (3) 60° (4) 90°

‘A bag contains ‘4’ black balls and ‘6’ red balls. If one ball is drawn at random, then

the probability of getting red ball is
28 H00S° ‘4 Hen) DB ‘6° AP Boew S0P, 28 203 AN Sorr SaBrr Vb Kb wod
OHOH Ko Jozrdgd Jod ?

M 3 @ 32 3 3 @) =

SPACE FOR ROUGH WORK / d& 298 Séronosadsd dou
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32

33

34

35

If mode = 29, mean = 32 then median =
erduEsin = 29, dtw = 32 eond, Dgriso =
(1) 29.5 : 2) 30 (3) 30.5 4) 31

Find length of a kite string flying at 100 m above the ground with the elevation 60°.

&8 o grd%od 100 . drd IHE® HoHH%)6, @08 889 o e & 60° S
Db, o8 P& dod ?

100 50 200 25
Wz QE wue 0T @

The median of -4, -6, -5, 3, 0, 5 and 11 is
4, 6.5, 3,0, 5 woat 11 © wesgrhso
(1) -4 (2) -6 (3) 3 - (4) 0

Average of 11 numbers is 10.5; If one of the number 9 is deleted, then the average of
the remaining numbers is

ll‘éoa,oge) Jo°0d 10.5. 208 dowg 9 & &b, wADS Jopge HoeHd
(1) 164 (2) 10.5 3) 9.5 4) 10.65

Identify the correct statement - ,

tH P(E)=-1 (2) P(E)=1 (3) 0<P(E)<1 (4) None
83 (808 TS BB (HHSEH -

M P(E)=-1 = ) P(E)>1 (3) 0sP(B)S1  (4) Y85

When two dice are rolled the probability of getting same odd number on two dice i is
Do V0D RKdre Body ke s 28 B0 & Rogg ©foh Vogridgs

M) @) 7% G) = @) ¢

SPACE FOR ROUGH WORK / 9& %8 Seronoisess o
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37 The tops of two poles are of height 20 m and 14 m are connected by a wire. If the
‘wire makes an angle 30° with the horizontal, then the length of the wire is |

(1) 11 m 2) 12 m iy bbm (4) 10 m
20 &, HBae 14 . ) e Both Hoare FHD) B HE DX, © sodh §8e Krodd S8 30°
et B, & B ANEY F P Jod ?

(1) 11 . () 12 5. (3) 13 . (4) 10 &,

a8

38 The curved surface area of a cylinder is 264 m] and its volume is 924 m? then height

of the cylinder is L0

(1) 3m (2) 8m (3)%6 m 4) 4m

28 s AnE). HEde Frrogin 264 B, & ;m:oi':%;m Hohrey 924 1.2, @ond, & Hrdin
-

(1) 3 . (2) 8 . (3) 6 . 4) 4 .

39 If sinf=cos® (0<0<90°) then tan6=

sin® = cosO (0 < 0 < 90°) ®owd, tan®=

)
{1 =l (2) 4 (32 : @) 1
- L
LO
. e =% v
40 If tan(A—B)_ﬁ, cosd== then £B= 7
bl csd e
B 2 s
21 b1 b1 0
i = @ 7 £ = @ 3
)
- 41 The value of e is
: \/1+tan20c :
tan o Nend oot
\/1+tan2(x

(1) cosar Q) i  (3) coseca  (4) seca

SPACE FOR ROUGH WORK / & 08 Séronousadd Heomo
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42 Calculate the length of tangent from a point 15 ¢cm away from the centre of a circle.
of radius 9 cm. '
(1) 11 cm (2) 9 cm 3) 12 cm. (4) 10 cm
9 20.8). TEIEEOT Ko $)Ed8, m;z{ﬁo@é» 208 15 0.2. Ersine® a8 Hothi) Lo, wons,
@ Do) wod )8 Aodd @Qéﬁﬂp PEHD EHR"H0S ?

(1) 11 0. (2) 9 2050 (3) 12 20b. 4) 10 0.5,
&ﬁ :

i
43 In the right angle A ABC, Z B=90°, tanC =% then the length of hypotenuse is

28 o8’ [@ahazo A ABC,8* £ B=90°, tan C =% ®ond, & (Bahes 8850 PebH Joes?

(1) 16 * 2L Oy @) 17

44 If 4=45°,B= 60°, then sin 4 + cos B
A=45° B=60° ®aNd, s1nA+co§@K)e»§ oes ?

‘/5 2 _‘/55““} 2+\/-2- 2+J—2-
(1) 245 () +2 o (3) = LW o

45 Which vessel shown in the below figure can .hOId more water ?

1 cm

(1) A 2) B
(3) same in A and B (4) Not decided
Léocs BURS) 3 (S, 2%p.5 3D £OA dkocé B ?

1 ooﬁb
() A (2) B
(3) A ®8axw B&® sard o)bérea:n{—m (4) dgowousSim

SPACE FOR ROUGH “WORK / D H5I8 Beranosdd Hodn
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47

48

49

50

If the radius of a sphere is '27' then the volume will be

Ferin By Tgdrgin '2r' ©ond, od (i H0rein

(1) 277 @) 4nr @) 3nr° ) Znr

The radii of two cylinders are in the ratio 2 : 3 and their heights are in the ratio 5:3
then the ratio of their volumes are

Bodh Jrare TGP A8 2 : 3 Do e Ao AN 5:3 eond =& DI NDdrere ANS
(1y 20:27 " (2) 40:50 (3) 20:30 (4) 50:30

The radius of the sphere is increased by 100% then the volume of the resultant sphere
is increased by

08 B Qg Tgrgin 100% Do, AE)th Ao Engy D3 SodrHdn Do WD ?
(1) 200% (2) 700% (3) 500% (4) 900%

The centroid of a triangle is (4, 1) and two vertices are (2, 3) and (7, 6) then the third
vertex is

2 (@gbes Hh &g Solsiw (4, 1) ®8axw a°d Boch %g‘e» (2. 3) oo (7, 6) ®@and, Hoedd %go :
(1) @B, 6) 2) 3, 6) (3) (3,-9) 4 G, -9

In the below figure A POR~A ABC then z+y=__

(Bod Desd wod A POR~ A ABC ®ond, z+) =

P A
3 . z >
| 30° | 300
s v B B 4 ¢
(1) 1+343 (2) 9+ (3) 1258 4) 4+343

SPACE FOR ROUGH WORK / 9 $98 Seranosads dodn
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51

52

53

In the below figure OB=13cm; OP=12cm and OP L AB then the value of 4B is

808 He30 ©08 OB=13 20.D.; OP =12 20.. ©dotw OP L 4B eand, AB devd

(1) 5 cm(zof)  (2) 100 cm(Ro.p) (3) 10 cm(od)  (4) 75 em(R0.dv)

A circle touches the sides of a quadrilateral ABCD at points P, O, R and S then which

of the following is true ?

28 9880 ABCD s&832rd) P, O, R Hbam S Dothipe 25 &85, (800 38* D& éégm ?

R {
S Q
A
r B
(1) AB+CD=AD+BC (2) AB+CD> AD+BC

(3) AB+CD< AD+ BC (4) AB+BC=A4D+DC

The angle between the tangent and radius drawn through the point of contact is
H)8 9363 g)od)é) B g8, 6B g o Seod

(1) 100° 2) 70° (3) 90° (4) 80°

SPACE FOR ROUGH WORK / 9& 08 Séronowsadd ot
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54 If the point P(x, y) divides the line segment joining the points A(xl, yl) and B(xz, y2)
internally in the ratio m, :m, then P(x,y)=

A(xp, y;) %805 B(xz,y2) Dothopos® I8k Ty poaed) my1m, &)a’g:}é‘ woddorr

25805 Doy P(x, ) Gy e

4 MXy =MyXy MYy — My 5 mX, +myX; My, +myy,

D Tm=my T m=m, @D Tmmy  mem,
4 mxy +myX; My, + My, > MmXy —MyXy MY, —NMh),

(3) my +m, : my+m, “4) my; +m, ¥ ml-i-'m'2

55 The mid-point of the line segment joining the points (2. 7) and (12, -7) is
(2. 7) 000 (12, ~7) Bockriped® D61k Sarmotiin Gngy s Do Ardse ?
(1) 7,0 2) (7,0 3) 0.-7) 4 O, 7

56 AABC~APQR;, ZP=60°, £Q=175° then LA=_
A ABC~APOR; £P=60°, £LQ=T5°®ond, LA=
(1) 90° @) 15° (3) 40° (4) 60°

57 From the below figure the value of 'x'=

(Bod Hedw od 'x' Jewd

4 D
*
4 12
2 e
B¥ E _
M 1 @) 12.83 3) 14 ) 25

SPACE FOR ROUGH WORK / 9& 08 Séronosadd Heoio
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58 From the below figure the value of 'x'=
(Bod e od 'x' Jewd

4
20220”2
P
X
. B "
(1) 2021 cm (Rod) (2) 2022 cm (o)
(3) 2220 cm (0.5 (4 2020 cm (0.5

59 In the below figure ARST ~ A RBA then the value of x is
(8od B0 0B ARST ~ A RBA ®@0ond, x Jend

1) 12 ' (2) 24 3) 10 4) 18

60 RP and RQ are the two tangents to the circle with centre ‘O’ and ZPOQ =110° then
Z PRO = '

‘0’ Sogtmre do H)zd8 RP ©8at RO en Boks 2)80en ®Ba £ POQ = 110° wans, -
ZPRQ =

P

o ‘
(1) 70° (2) 90° (3) 350 (4) 100°

SPACE FOR ROUGH WORK / D OB Seranosdsd dodw
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62

63

64

SECTION - B : PHYSICS (5°8§ w9i)

For a convex lens magnification of virtual image is possible only when the object
distance is

(1) equal to F - (2) greater than F

(3) less than F (4) none of the above

SoarseE EEE 0B Jod Ersins® HpHH GoDBPE ey [HBHowE) eBSH Both&o8 ?
(1) Tasg0s6aHGH W corsio (2) wresgodsin 0B Ky d

(3) Taigossin Ko $Kpd - (4) b =

Focal length of the eye lens changes with the help of

(1) Pupil : (2) Aqueous humour
(3) Ciliary muscle (4) Optical nerve
Sot36° K68 Tegodtin B HFHINE ErtH &0

(1) s _ (2) 868 |00

(3) 2bad Sotsso (4) 6,8 wa

Direction of electric current and direction of electrons in a conductor are

(1) Same direction (2) Perpendicular to each other
(3) Opposite to each other (4) None of the above

28 TSNS A6g8 i BF, JOT IO BF K ASore Gotrow.

(1) o8 o4 (2) o8 oS eowore

(3) %3808 &% (4) Rt 2

The focal length of a lens depends on

(1) Radius of curvature (2) Refractive index of the lens
(3) (1) and (2) (4) None of the above '
E&8hn By TPgossin I sersHiD.

(1) sige grgi (2) stk @wg) 985S sk
3) (1) 281 (2) (4) b =0

POLYCET-2022—C ] 14 , [ B
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66

67

68

69

The defect by which some people can not see near objects clearly but can see distant
objects is called

(1) Myopia (2) Cataract (3) Presbyopia (4) Hypermetropia
§'oid Sefsrr &) HDYPOD VM SrEBH 50 Srdone &) NP Srdred. & cSe)‘é.)eS""év&)l

Qe® 0.

(1) @rog sy (2) o0& Hgren (3) sergsin (4) ég Sy

A person is advised to use 5D lens. What is its focal length ?

(1) 50 cm (2) 5 cm 3) 2 cm (4) 20 cm :
&8 $c88 5D E65°0) TEO roBVAHS. ood TeGoSBHN Jod ?
(1) 50 20.9. 2) 5 500, (3):2 20.5. (4) 20 20.2.

In an eye, muscular diaphragm: between aqueous humour and the lens is called

(1) Iris (2) Pupil (3) Retina (4) Cornea
Eoe3S®, Y& Y |58 Berso08 D S8 SoBEPC B8 DHE Do .
(1) %t (2) sodn (3) BeSee (4) s8yarr

Angle of vision of a healthy adult human is
B igB08d ¢8y% Sty :
(1) 10° (2) 60° 3) 90° (4) 40°

In series connection of resistors, if one of the resistors breaks down, then
(1) circuit is open and no current flows in the circuit

(2) current increases in other resistors

(3) current remains the same in other resistors

(4) current decreases in other resistors a little

Wron @IS’ SR B &8 et HIBABEIB, 0 DS
(1) Seano B, Soanos® dsgdyrarirtnr eATE08

(2) 285 Wferod® AvgdYrardrn WHHEE

(3) ADS Pgres® ADHGSITII @0B odwod

(4) DAdS deros’ Agd Yo SO StH&0d

SPACE FOR ROUGH WORK / D& H8 Beronowsdd Hodn
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71

72

73

74

A bulb is marked 60 W and 240 V. Find the resistance in the bulb.
a8 weny 60 W ©8at 240 V o (hBoseddn. 200)6™d %8t Jod ?

(1) 40Q (2) 180Q 3) 9%60Q 4 60Q
8]
09
Usdge of fuse in a circuit prevents from
(1)_k‘§)n?wer cut  (2) Overload (3) Short circuit (4) None of the above

o b0dnos® frod 85100 W06,

(1) 2958 S (2) 645 &6 (B) afomyss  (4) 3.;55-9@

Obstruction to the motion of electrons in a conductor is called

(1) Conductivity  (2) Resistance (3) Resistivity (4) None ofthe above
TrENS® Jogoe Somwdd 598 ©605°d)) B VOr.
(1) ppypssgin (2) 28°essa0 (3) MH W (4) a0 78

O

e ;
Whieh of the following is the equation for given circuit as per Kirchoff's loop law ?

85 75 o Joiin [HSsin 20 Soorrds HnEsein 20 ?

30
Vi
I A 3%
o3 =
U.,}I 2V
(1);’{53“2:0 (2) 3Ix12=1 () 31x12=0 (4) 31-12=0

Which of the following relation represents Ohm's law ?
&3 800 @ H022065EN LT JoHHHND WA ?

(1) Vel @) Vep G y-1 = @ r=w

£y

@O SPACE FOR ROUGH WORK / 9& %98 Séranousadsd deoio
L e s

O
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76

71

78

79

In the circuit given below, if the equivalent resistance is 10Q, find the value of R.
(Bocs mdgaad Hoon0s® S S dewd 10 Q ©and, R dend gofrdm.

40 |
e 48)
Yadi s o0
12Q Lo
: o
I | ey
I I;, : |

(1) 8Q (2) 16Q (3) 15 “4) 3Q.

SI unit of resistivity is
NG W @y SI [@reitno

1) o 2) Q-m (3Y) Q-m? 4) Qm™!
Multimeter can be used to measure Lo
(1) ‘current (2) voltage (5? resistance (4) all of the above
DOVGE » SHBrAD BN Fod By, :;f :
(1) g (2) S84 (3) BPessim (4) 25 at®
The size of the image formed by a convex mirror is always
(1) Enlarged (2) Diminished
(3) Double size of the object (4) None
£0275°8 5680 DEYEH (HS8Do2) HODPLDN DK
(1) BB Boddd : @) %8
(3) % %08 BEoiy (%?)} 98 wo¢h
NS
The spherical mirror whose reflecting surféf::éi curved outward is
(1) Convex mirror : (5) Concave mirror
(3) Plane mirror (4) None
2 st (8)min S0t HovBED o HEin wanes THHSH dotnod ?
(1) Sozrss S8yt (2) Herss sy
(3) e BBy : ‘ (4) 28 =%
Yy

SPACE FOR ROUGH WORK /08 98 Seronousss geis

L9 ‘gj}
i
-
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81

82

83

84

The type of mirror used in solar cooker is

(1) Concave (2) Convex
(3) Concave and convex ; (4) None
Werb $8)5 S0 aHABrAoN ¢58 )80 _

(1) Herses | : (2) Sogrsy
(3) Ders8 DB Hoarses , (4) 26 s~

The minimum distance of an object from the pole to obtain real image in case of a
concave mirror is

DErs™8 S8 @0 KoHos® Jes (HBHoEN o0, HDPI, Sy Hod Jod & Lrdod®
&owd ? :

(1) F ) 2F 3) 0 @) F12

What is the focal length of a plano-convex lens if ‘R’ is the radius of curvature and
‘n’ is the refractive index ?

B do Hozrse8 Sshn B, e argrdino ‘R’ H8ot K855 omgin ‘N’ wowd, FeIgosSin
doés ?

(1) f=Rr ) f:% 3) f=nL_1 @) f=nT—l

The rhagniﬁcation of a concave lens is always

(1) equal to one (2) less than one  (3) greater than one (4) none of the above
QErsY S By, eaégzéé» VS IRN o

(1) e8e58 st (2) astS 0B dps  (3) ¥ 0B Jy5  (4) DED s

Which of the following is true in case of a concave lens ?

(1) Erect and virtual image ~ (2) Inverted and virtual image

(3) Erect and real image : (4) Inverted and real image
QeSS EHT°IB 102080 ¥ (808 TeES* DB HOBIHG ?

(1) 3¢ deny B Mgrg ©&Doaxino (2) SoBochen DB berg HBHoED

(3) & den DB Jes (HADo2E0 (4) do8othen HBAXL e HBNo2xE

SPACE FOR ROUGH WORK / 9& %98 $eranosads Hodw
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85

86

87

88

89

90

What is lens maker's formula ?
&8 S0 HESH DWe3 ?

1 qe - ' ] i1
® 705, @ 10w

1 1 1 1 1 1
(3) -f-=(n+}1)(R—1+—'ng 4) F=(n+1)(§—l-—§;J

If the focal length of a spherical mirror is 10 cm, what is the value of radius of

curvature ? :

(1) 10 cm (2) 20 cm (3) 30 cm (4) None
Rerse8 S8 ek B, wraigossin 10 0.2, wowd, Hse TG Jod ?

(1) 10 20.2. (2) 20 =0.0v. (3) 30 o.5». (4) b =%

If a convex lens is placed in water, it's focal length

(1) increases (2) decreases (3) does not change (4) none of the above :
HogrseE Sk ABS® BoDSHPE @ TargosBHN
(1) 2% (2) & (3) &rde 4) =P

Which of the following is the formula for magnification in case of spherical mirror ?
Brersed $8)etnd® edgeins (@i 36 ?

N -V U =U
M T it T @ v @ 57
Every lens has focal points. |
(58 L8 Trghenotran.
(1) 2 (2) 4 (3) 6 “4 3
Parallel beam of light after passing through a convex lens pass through a point called
(1) Pole (2) Centre of curvature
(3) Focus (4) None of the above
Srodd 5708 Hodn HogrseE EEn Hore (HaKrBodd SSHard @ Dot o FH ?
(1) ey | (2) HE= Sosdw
(3) =® (4) 23 P

SPACE FOR ROUGH WORK / 9 £08 Seranossedd doio
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93

94

98

96

SECTION - C : CHEMISTRY (82r0%% F°09300)

The orbital with more penetration power towards nucleus is
Soessin By Sy ek dgerisin Hogde 45) ©OYerS D6 ?
(1) 4d (2) 4f (3) 4p : (4) 4s

The electronic configuration of an element is 2, 8, 6. Which one of the following
element is chemically similar to the above element ?

(1) Nitrogen - (2) Oxygen (3) Phosphorous (4) Chlorine
JOFIS JWrgio 2, 8, 6 LOAS &8 reo, (Bod adyd O wreLos SraBdsor FO Gotnod ?

(1) 3&'=5 (2) w8yaS (3) >ayes (4) $o5

4f elements are called as ,
(1) Transition elements (2) Alkaline earth metals

(3) Actinoids ' (4) Lanthanoids
4f drosced o sore 0P ? '
(1) 20565 orosen (2) =06 )88 Sen

(3) e8srondh (4) orogsrandd

Which of the following pair of atomic numbers indicates the s-block elements ?

: (Bod T°¢3° & 238 HSSre Jopgen $-2r%H Drese Ao ?

1) 5, 6 - 310 (3) 11 P 4) 7, 8

The element which belongs to 3™ period and 14th group in Modern periodic table is
(1) Aluminium (2) Silicon (3) Phosphorous (4) Sulphur

SIS RS HIES® 35 SOaBE DB 145 |ArHHE BoBHEHOE Srersin

(1) oergddaso (2) 295 (3) )R (4) ‘(w‘DS

Which is the least electronegative element amohg the following ?

(1) Lithium (2) Carbon (3) Nitrogen (4) Fluorine
(Bod e36° 857 % 2xven DSOS ES Ko DroLhin 6 ?
(1) ®8avo (2) =88 (3) =S (4) %S

SPACE FOR ROUGH WORK / Db H8 Seranoswdd Hodn
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97 A Na+BH,0—»CNaOH+DH,, in this equation the values of A, B, C and D are

A Na+BH,0— CNaOH + D H, &3 20860é® A, B, C %805 D densen
i) A=1, B=1, Csf D=1 G A =2, L=2 D}
3) A=1, B=1, C- 8 D=1 (#). A2, B=1, C=2, D=1

98 Identify the salt in the following.
808 e3S® odedn HBoBOB.
(1) NaCl (2) NaOH (3) HCI (4) HCN

99 Compound formed when excess CO, is passed through lime water
)0 M onge 068 CO,D oty D6y Beedin

(1) ca(oH), (2) CaCO, (3) Ca0 (4) Ca(HCO;),

100 Solution with pH less than 7 is

(1) Sodium chloride solution (2) Sodium hydroxide solution

(3) Acetic acid solution _ (4) Slaked lime

PH dend 7 %) 8535 Ko (oedesdno o

(1) 28ano 36 |csemin (2) oo BB (@i

(3) RxSE esiy (ceSeoii ' (4) 88 sy o

101 In endothermic reaction, heat is

(1) released (2) not changes (3) absorbed (4) all of the above
SUTEE S8 S | } '
(1) e (2) sr) dosth  (3) Rrosedi (4) 2069)0%0%

102 One mole of Propane (C;Hg) on combustion given ‘X’ kilo joules at STP. Heat liberated
by the combustion of 11.2 litres of Propane at STP in kilo joules is
28 28 @5 (C3Hg ) ST cinso Susiopedo ‘X 86° Sy mpos. STP ¢ 11.2 deogs @55 %
Sirdo BRAXPE b e 88° Sy o
(1) x @ % (3) 11.2 x 4) 2x

* SPACE FOR ROUGH WORK / 94 %28 Seronoswds o

POLYCET-2022—C ] 21 o FRTO.



103

104

105

106

107

108

109

Which one of the following metal occurs in the native form ?
(8o e3&°, (98)8S° e o egignclg o

(1) Au (2) Ca : (3) Mg (4) Na

The more reactive metal in the activity series is

(1) Potassium (2) Iron (3) Zinc (4) Platinum
SorgRed @S’ 088 SorgBeos so Sro

(1) Srerdavo (2) =& (3) #08 (4) %0

Which of the following process is used for the purification of crude metal ?

(1) Roasting (2) Poling (3) Calcination (4) Froth flotation
808 283" S8 adArACS 108 I ? .
(1) #5g%0 (2) d%00h (3) 2Ry 8demo (4) 555 (8o

Which of the following is a non metal ?
(808 >¢36° w&tro 26 ?
() s (2) Sn 3) K 4 S

Identify an acidic flux among the following.
(Bod 368" wyigardo o (55570 HBoB0d.

(1) Sio, (2) CaO 3) MgO | (4) CaCOg,
The carbonate ore among the following is

(1) Bauxite (2) Magnesite 3) Haematite (4) Carnalite
(808 ae36° 5°8° NS ey B ?

(1) er8y& (2) Breys () 288 4) =686

Washing Soda is used in :
(1) Glass, Paper Industry ‘ (2) Manufacture of borax
(3) Cleaning agent for domestic purpose (4) All of the above

200 P 20K5S® SHBrATD.
(1) oo, s°A8 HOEDS (2) #'o-8y Sarrds®
(3) HAyEsiore 80 §Aoh B0 (4) 39)am®

SPACE FOR ROUGH WORK / 9& %98 $eranoseds odw
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111

112

113

Maximum number of electrons present in an orbital of atom is

SserEP Bgy wOYErS & dod Jogmg (o5 vomg

(1) 8 (2 6

Bases can give ions in water.
NS seoren ©AHD B0
(1) Ht (2) OH

Mixing acid to water is
(1) exothermic reaction
(3) neutralisation

38 ey Soixso
(1) exyarss 3
?3) ééof’gédeaé»

(3) 10 (4)' 2

(3) H;0" (4) OH*

(2) endothermic reaction
(4) none of the above

(2) ey $dg
(4) W =P

‘Four quantum numbers of valence electron of sodium

Fdavo By HEHOP TS By, Tenrd s°god0 doggen

(1) 3,0.0 19

(3) 3,0, -1, +172

114

115

Colour of anhydrous CuSO, is

(1) White (2) Blue
oxgy CuSO, dord
(1) B (2) d0

Bleaching Powder is formed from
(1) Slaked lime + HCl
(3) Quick lime + HC1

DB b MZwod D8 YhE0d.
(1) 88 wdy0 + HCI
(3) & w0 + HCI

(2) 2,1.0,-1/2
4 2,0,0,-1/2

(3) Green (4) Yellow
3) SEGEN 4) 09

(2) Slaked lime + Cl,
(4) Quick lime + CO,

(2) 88 2dy0 +Cl,
(4) = w0 + CO,

POLYCET-2022—C ]
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117

The total number of afomic orbitals in third shell of an atom
28 BErE et Sartss $56° ¢od 68 )erd) Sowg

1) 1 @) 3 3) 9 (4) 18
' 50

Which one of the following q?%troniagnetic radiation has more frequency ?
(1) Cosmic rays (2) X-rays’ (3) U.V. rays {4) Radio waves
808 Debgtonary 08 DG L)é:;@s FiYgo $OA Gotwod ?

(1) ;8 8erew (2) X-88eren 3) U.V. &= (4) B38&r sorren

118

119

120

Order of energy of orbitals

wdytre 38 (S

(1) 3s>3p>3d>4s ™ (2) 3s<3p<3d<i4s
(3) 3s>3p>4s>3d f"’:‘ (4) 3s<3p<4s<3d
The classification of elementswhich is based on atomic number is
(1) Dobereiner's law of Triads{fm% (2) Newland's law of octaves
(3) Modern periodic table : (4) Mandeleeff's periodic table
Hosre $oDg D BEEHAS Lirose HH8sH 20 ?
(1) arebdh (88 dgrodin (2) srgeroly X8 dapivi
(3) s wixsd B8 N (4) BoosdS esissd 3
QO

Which of the following electr%@c configuration violating Hund's rule ?
(Bod 2¢38* 0B aHEHP) &903_»‘6‘3 D0F9S TR 6 ?

M ry] [refref * @ [ry] {refr |1
2s 2p 2s 2p
©RERENEN &) @ ] I
28 . Ip ; S 2p
/ Y™

SPACE FOR ROUGH) WORK / 2& #08 Seranosandd Heobn
U

v
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SECTION — D : BIOLOGY (efs=5:0)

The mode of nutrition in Paramoecium is

(1) Ingestion (2) Absorption (3) Parasitic (4) Saprophytic
ForabRaost e Ao 238808,
a8
(1) @088 (¢5sre0 (2) e (303 g0 (4) $rdsessso
Lo :
O
External fertilization is observed in .
(1) Monkeys (2) Humans ~ (3) Fish (4) All of the above
erig obEtmo & atrHE08. ' ,
(1) Sen (2) srspen (3) Jsvew (4) 9

123

124

The structural and functional unit of nervouscgystem is
(1) Neuron (2) Nephron (3);t@steocytes (4) None of the above
T8 B0 Ay Jomgerdy & HOk (Bors) 8 Heeso

4 e

(1) =8 %o (2) 38 (3) ©pB»3u5 e 4) 38 =)

serves as a shock-absorbing medium and protects the brain against
shocks/jerks along with the meninges and cranium

(48]
(1) Lymph (2)c€erebrospinal fluid
(3) Blood (4)@one of the above
Eretn, DIoad o L2 DEHDD OB 0B SEE08.
s |
(1) &% (2) 2y DHsso
(3) ss0 4) 30 =P
SPACE FOR ROUGH WORK / 9 198 Seranossans o0
06
L
O

i
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125

126

127

128

are fat soluble vitamins.
HYS® 808 o1 A ?

(1) B&C (2)A&c "3)B&D 4 A&D

Which part of the brain controls the emotions ?
(1) Cerebrum ; (2) Diencephalon
(3) Mid brain .(4) Cerebellum

DS BEy. Q o PrarREreR JoHo@:wod ?

(1) g0 (2) ogs ﬁsgo A

(3) g DS (4) oo (DLD)

Total amount of urine excreted per day by humans is about litres.
ArsHd BerdH DIrdhmr derg Sar(Ed) MY .

101 P hEge (3) 14 - 1.6 @) 1.6 - 1.8

functions as ﬁltration unit.
(1) Bowman's capsule (2) Glomerulus
(3) Loop of Henle ' (4) Renal tubule

HEJES Xreo0r™ B A0S,
(1) FHS =98 - (2) 5834 =98 5o

(3) = #8550 (4) 5% =98

SPACE FOR ROUGH WORK / & 308 Seranosads oo
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129 Identify the correct photosynthetic equation.
Light
(D) 6CO, + H,0 ~Chlorophyll CH,0 + H,0 + 60,

Light
2) CO, + 2H,0 ~Chiorophyr > CH,0 + 2H,0 + o,

‘ Light

Light .

86w esg Bodrrs (8ae™d SoGH BDEER) $)80508.

5°08 i
(D) 6CO2 +H,0 Slewose CHZO +H,0 + 60,

: 5708 &

(3) 6CO,+6H,0 é;’a‘fg’éo — CgHy,04 +6H,0 + 60,
: 508 . 2uiey
(4) 6CO,+12H,0 seodo  CeHi206 +6H,0 + 60, EAL:
130 The latex of plant is the source of biodiesel. 5% &
(1) Sapota (2) Chicle (3) Hevea (4) Jatropa
Wy 388y 208 aBrdRS © Soxrd B3,

(1) 2% (2) 288 (3) >aote (4) st

131 The secondary function of lungs to carry out excretion is

(1) Removal of CO, and Water (2) Elimination of Sébum
(3) Urea formation (4) Excretion of excess salts

#208Hen eeston b S BB s

(1) CO, ®Baxy 53D 2ones oy (2) %o Bty dryeb
(3) 8ot Saxes - (4) 058 osere el

SPACE FOR ROUGH WORK / D B8 Seravoswds o0
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132 ‘Assimilatory powers formed in the photdchemical phase of photosynthesis are

(1) ADP and ATP (2) ADP and NADP

(3) ATP and NADPH (4) NADP and NADPH
édmeség $o&BrH8anS™) 5708 Eand g4 DB B EBen FHBHOT

(1) ADP %bat ATP (2) ADP %ot NADP
(3) ATP %80% NADPH (4) NADP 80 NADPH

133 The organs which have different structure but perform similar functions are called

(1) Homologous organs ;  (2) Analogous organs
(3) Vestigial organs (4) None of the above
doee006" B o, 2BEEH KN BB edanT oD eoknth;
(1) ompe0 g wiate (2) (Boxraring wSanT e
(3) estrsatme @) Eosy

134 A cross between a round, green seeded pea-plant (RRyy) and a wrinkled yellow seeded
pea-plant (rrYY), the seeds produced in F; generation are -
(1) Wrinkled and Yellow » (2) Wrinkled and Green
(3) Round and Yellow (4). Round and Green
ol B WHHSY Jren Ko e KD (RRyy) dwdoden ©datn 30 dzren Ko
2008, 8 (TYY) 50860 airr, F 8o dtwisotd dzren o Boggen 6)&iod.

(1) Sochden DB HKoY : (2) dwdhden oo eHBBY
(3) Mol8d DB B (4) *%o[gd HHBOK WD)

135 Differences in character within closely related groups of organisms is referred to
as :

(1) genes (2)' variations (3) (1) and (2) (4) None of the above
$8¢46 Bo0650 Ko BT Bodd EHo Wy o ofrod® $oB Porod ©OEr).

(1) edogpen (2) Mergen (3) (1) ®oato (2)  (4) FWI=H

SPACE FOR ROUGH WORK / d& 308 Seronoseds o
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136 Each human body cell contains of Auiosomes.

(1) 20 Pairs (2) 23 Pairs (3) 22 Pairs (4) 24 Pairs
W5 8908° ) axde B0 (FTrdtsven (©&*nen) doeron ?
(1) 20 aesen (2) 23 aden (3) 22 essen (4) 24 esesex

137 In F, gehefation, the genotypic ratio of monohybrid cross is
F, 608", D¢ sose SRS A d

) —

(1) 9:3:3:1 (2).3:1 1124 (4) 3:1:3:9
138 protects the heart from shocks,
(1) Pericardial membranes , (2) Pericardial fluid
(3) Auricles ! (4) Ventricles
HoBD ehrere H08 v SPrd&08. :
(1) #)Saxmsse $garen (2) #ysonrsse (&0
3) E0%en - (4) 2=638en v E‘N‘:’:
- . | . SEAY
139 Blood capillaries were discovered by in 1661. - _ oF I\
(1) Marcello Malphigi (2) William Harvey ~EN
(3) Girolamo Fabrici (4) Rene Laennec :
1661 &° 68 S4980% SO 8.
(1) &8ys* S0y ] (2) o0 Kﬁﬁg
(3) pEerr @2 (4 weoms
140 is a vital link between blood and tissues by which essential substances pass
from blood to cells and e€xcretory products from cells to blood.
(1) Lymph (2) Heart (3) Arteries (4) Veins

880 o8 VohsrerDn 5roD) Sereerk) ©0B0HBo, Sreod S)ee Kaoogvezéa EBODY), 55068
B8ydso eroes sorged Fh 852y Serod a0 BSRd Hego oS ?
(1) sB8%0 (2) o (3) sven 4) 2en

SPACE FOR ROUGH WORK / D B8 Seranosds Bk
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142

In trees, removal of prevents transportation of food.
(1) Phloem (2) Xylem ~ (3) Xylem vessels (4) None of the above
B’ D FoRoDIPE WIS e JBoBsS00 ?
(1) 9848 Seve00 2) =8 B) &P weren  (4) IR P
__ controls the movement of food and air towards their respective passages.
(1) Epiglottis (2) Pharynx (3) Nasal cavity . (4) Trachea
| wifoed) Ddaty MmO & & argred® ERR0BvED _ Doxo|8od.
(1) ededrgs - (2) 8 (3) =¥ o (4) oo
Muscular tissue present at the floor of the chest cavity is

143

144

145

146

(1) Bronchi (2) Diaphragm (3) Trachea (4) Alveoli
BE:HE BHD gf0S”® G0t SoBBoEDD TS o,
(1) =gdoreren (2) derzg Hr00 (3) wgv2ess (4) amBiven

In thé absence of oxygen, glucose is converted to ethanol in

(1) Plants - (2) Animals (3) Yeast (4) Lactobacillus
©8y238 ogigosed 5o (rE agrS & Sr&Heod.

(1) MwgHen (2) =zosdhHen (3) & (4) o8ardes
During céllul_ar respiration, energy is stored in __ cell organelle.

(1) Golgi complex (2) Mitochondria  (3) Nucleus (4) None of the above
S w>gRiBaY 207 Haod® ¥8 O Swrokos® JegEnh k&8

(1) e oo (2) D& seo@arr (3) Soso (4) =P

Plants which undergo the vegetative reproduction through roots

(1) Colacasia and Ginger (2) Murraya, Guava and Millingtonia
(3) Bryophyllum and Scilla (4) None of the above

3 argoe FHOD (HSgSNE 2BEHYLD D 0% Gorirdmen

(1) Foshosr DB ©e0 (2) Sw(Bosr, ety oo Dok & oxe
(3) EErPeS Lok b @) o=y '

SPACE FOR ROUGH WORK / 9& ©28 Seravoisads o
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148

(1) Plasma (2) Semen (3) Placenta (4) None of the above

BErISer 5818 B4 50, 2oy odares, 55 (rf0s Praren 508 2pss ) wotrc,
RDIS Fny Bty B Sesversy K88 w0,

(1) g, @) D0 GBS (3) gray (4) 330 =g

proposed by

149

150

(1) Mendel (2) Virchow (3) Lamarck (4) None of the above

(DSJBowre ?

(1) Dods @ r (3) eirBy 4) 30 =g

o
Growth of a Plant in Tesponse to a light stimulus is known as 5EP\\‘"
(1) Geotropism 2) Hydrotropism (3) Phototropism (4) None of the above Seci

Eboégren 5°088 oD Kroonr K)Qoaoii)éo:fn ®odr) ?

€)) e gssso (2) M@Knégéo 3) soa oD% (4) ) 509

(1) Cross pollination (2) Self Pollination .
3) Hydrophily 4) Anemophily

do°rf 840 208 Hoei -éew:@en ©8 HIo angy Sor(rrd) Severs — wo&r.

(1) 56 50765 g0y | (2) @8 0705 a0

3) 2O Joeef Hodxs) 0 4) aramw S0 $058) 0

SPACE FOR ROUGH WORK / D B08-Seronosads RSy
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